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PART -A
Answer all questions. Each carries 1/, marks.

1. The sum of first n natural number is

n+1 n=1
| [ b} —
) > ) -
C) n(n—-1) d) n(n+1)
2 2
2. The simplestformof 8:12:24 is
a)4:3:6 b)2:3:6
¢c)6:4:2 d)2:6:3
3. If4"=1024, thennis
a)5 b) 8
c) 10 d) 12
4 V5 -+/3 is
" V5+43
a) 4—+/15 b) 2
c) 3 d) None of these (4x1/,=2)
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PART-B

Answer four questions. Each carries one mark.

.
6.

10.

Ifa:b=3:4andb:c=5:6,thentheratioof'a:cis

Simple interest on Rs. 1,500 at 7% per annum for a certain time is Rs. 210. Find
the time.

The average of two numbers is xy. If one number is x, then the other number is

: . e
Construct a 3 x 4 matrix whose elements are given by aij = :2-|— 3i+ j|

Solve 3x—-y=3
6Xx+y=3

The Venn diagram for A-Biis. (4x1=4)

PART-C

Answerany six questions. Each carries three marks.

1

12.
13.

14.

15,

Solve the following system of inequalities graphically
X+2y<8,2x+y <8, x>0,y>0.

2
LetA:[

3
} . Find A3,
-1 2
The difference between the compound interest and the simple interest on a certain
sum at 10% per annum for two years is Rs. 60. Find the sum.

1 1 1
=< Bt =—,
Solvex_s X+5 3

The average of 2, 7, 6, x is 5 and the average of 18, 16, x, y is 10. What is the
value ofy ?



I R O A 3

1 1 4
16. The sides of a triangle are in the ratio of E: 7 : A
Find the length of the smallest side.

X 2
18 X%

17 If
18 6

6" 2
=\ ’thenxis.

cosa -—-sino O
18. FindadjAif A=| sinac coso O
0 0 1
PART-D
Answerany two questions. Each carries eight marks.

19. Solve2x +y+z=1

24
20. LetA=|-2 3 1
1 6

Verify that
i) (adjA) ~! = adj(A )
i) (A-1) -1 =A.

21. Find the rank of the given matrix

O 181
wesd . 1
3. 0 2
1 =2 0
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. If the perimeter is 104 cm’s.

(6x3=18)

(2x8=16)



